

Mad Maths Minutes		Mad Maths Minutes	
Mixed Missing Value (Within 5)		Mixed Missing Value (Within 5)	
$3 - 2 =$	$\underline{\quad} + 1 = 4$	$1 + 4 =$	$0 - 2 - \underline{\quad}$
$2 = \underline{\quad} + 1$	$0 = \underline{\quad} - 3$	$2 - \underline{\quad} = 2$	$3 - \underline{\quad} = 0$
$1 = \underline{\quad} - 3$	$0 + \underline{\quad} = 3$	$5 = \underline{\quad} + 1$	$1 = 3 - \underline{\quad}$
$\underline{\quad} - 1 = 1$	$1 + 0 =$	$\underline{\quad} = 5 - 5$	$3 + \underline{\quad} = 4$
$0 = \underline{\quad} - 1$	$2 - 2 =$	$1 + 3 =$	$\underline{\quad} = 2 + 1$
$\underline{\quad} + 2 = 4$	$0 + 2 =$	$\underline{\quad} - 0 = 1$	$5 - 2 =$
$4 - 1 =$	$4 = 4 - \underline{\quad}$	$2 = \underline{\quad} + 0$	$4 = 4 - \underline{\quad}$
$4 = \underline{\quad} + 3$	$\underline{\quad} = 1 + 2$	$2 = \underline{\quad} - 2$	$4 + 0 =$
$2 + 1 =$	$1 - 0 =$	$3 - 1 =$	$4 = \underline{\quad} + 4$
$2 = \underline{\quad} - 1$	$\underline{\quad} = 3 + 2$	$3 + 0 =$	$0 + 1 =$
$4 = \underline{\quad} + 0$	$4 = \underline{\quad} - 1$	$5 = \underline{\quad} + 2$	$1 - 1 =$
$2 - \underline{\quad} = 2$	$0 + \underline{\quad} = 5$	$2 + 3 =$	$3 = 1 + \underline{\quad}$
$2 = 4 - \underline{\quad}$	$0 + \underline{\quad} = 4$	$3 = 4 - \underline{\quad}$	$1 = \underline{\quad} - 3$
$5 = \underline{\quad} + 4$	$\underline{\quad} - 0 = 3$	$1 = \underline{\quad} + 0$	$4 - \underline{\quad} = 0$
$5 - 4 =$	$\underline{\quad} = 2 + 3$	$\underline{\quad} - 1 = 1$	$1 + \underline{\quad} = 2$

Mad Maths Minutes		Mad Maths Minutes	
Mixed Missing Value (Within 5)		Mixed Missing Value (Within 5)	
$4 + 1 =$	$\underline{\quad} - 1 = 2$	$\underline{\quad} + 0 = 1$	$0 = 5 - \underline{\quad}$
$4 - 3 =$	$3 + \underline{\quad} = 5$	$\underline{\quad} - 1 = 2$	$3 = 1 + \underline{\quad}$
$\underline{\quad} = 5 - 4$	$\underline{\quad} = 4 - 2$	$\underline{\quad} = 1 - 0$	$2 + 3 =$
$4 = \underline{\quad} + 3$	$2 - 1 =$	$4 = \underline{\quad} + 1$	$5 - \underline{\quad} = 2$
$\underline{\quad} = 1 + 2$	$3 = \underline{\quad} - 0$	$\underline{\quad} + 1 = 5$	$2 = \underline{\quad} + 1$
$0 = \underline{\quad} - 3$	$\underline{\quad} = 2 + 2$	$2 - \underline{\quad} = 2$	$1 = 3 - \underline{\quad}$
$\underline{\quad} + 0 = 4$	$3 = \underline{\quad} + 0$	$5 = \underline{\quad} + 2$	$0 + 1 =$
$\underline{\quad} - 0 = 1$	$2 + 0 =$	$1 = 2 - \underline{\quad}$	$\underline{\quad} = 2 + 1$
$1 + 0 =$	$3 - 2 =$	$0 + \underline{\quad} = 4$	$3 - \underline{\quad} = 0$
$5 = 5 - \underline{\quad}$	$2 + \underline{\quad} = 3$	$4 = 2 + \underline{\quad}$	$3 = 4 - \underline{\quad}$
$4 = \underline{\quad} + 1$	$0 = \underline{\quad} - 1$	$\underline{\quad} - 3 = 1$	$5 = 5 + \underline{\quad}$
$4 - \underline{\quad} = 4$	$5 = 0 + \underline{\quad}$	$\underline{\quad} = 1 + 4$	$2 - \underline{\quad} = 0$
$3 = 0 + \underline{\quad}$	$2 - 2 =$	$1 = \underline{\quad} - 4$	$3 = 3 - \underline{\quad}$
$1 + 1 =$	$\underline{\quad} = 5 - 1$	$\underline{\quad} + 2 = 2$	$4 - 0 =$
$\underline{\quad} = 4 - 1$	$0 + 2 =$	$1 - 1 =$	$\underline{\quad} + 3 = 4$